
Total Lean Management (TLM) Solution

Problems & Challenges :
1) Low machines efficiency and high losses time
2) Long change over time
3) Excess inventory & spare parts
Solutions :
1) Developed their peoples by using TLM thinking & concept 
2) Implemented SMED and Autonomous Maintenance (AM)
3) Optimized the level of inventory & spart parts
Results :
1) Machine efficiency increased by 5%   
2) Change over time decreased by 40%
3) Inventory & spare parts amount decreased by 10%
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Total Lean Management (TLM) Solution

Problems & Challenges :
1) Low machines efficiency and high losses time
2) Long change over time
3) Low labor productivity  
Solutions :
1) Developed their peoples by using TLM thinking & concept 
2) Implemented SMED and re-line balancing & capacity 
3) Made new standardized work to minimize wastes & losses 
Results :
1) Machine efficiency increased by 15%   
2) Change over time decreased by 30%
3) Labor productivity increased by 10%
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Total Lean Management (TLM) Solution

Problems & Challenges :
1) % Yield less than target continuously
2) Long change over time
3) Low labor productivity  
Solutions :
1) Developed their peoples by using TLM thinking & concept 
2) Implemented SMED and re-line balancing & capacity 
3) Made new standardized work to minimize wastes & losses 
Results :
1) % Yield increased by 10%
2) Change over time decreased by 20%
3) Labor productivity increased by 15%

Food & Beverage Industry :

To become a high performance organization
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